GSE Geometry Name:

Kew

Unit 2A Review: Transformations & Triangle Congruence

Learning Target #I: Rigid Transformations

Multiple Choice: Determine the rule described in the transformations below.

1. Which transformation has occurred to quadrilateral AHUP?

a. rotated 90°

b. reflected across x — axis

rotated 180°

C.
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2. Which transformation has occurred to triangle UXS?

a. rotated 90°

b. reflected across x — axis

c. rotated 180°

d.

reflected across y — axis

5 (-s5,2) ~» 3'(5,-3)

XY = =x-7)

3. Which transformation has occurred to quadrilateral AKJI?

-

—

\

@gﬁe—cted acrossy = x

b. rotated 270°

c. reflected across x — axis

d. rotated 360°

ACEY = A (L)

(,X.VD - (‘31 )(j

4. Which transformation has occurred to quadrilateral BKHP?

a. reflected acrossy = x

b. rotated 270° CCW

7
/’

k-4

c. reflected across x — axis

d. rotated 360°

KEr3) = KB

(x\\l) - (\/)—X\

leview 1|6



Find the coordinates of the vertices of each figure after the transformations. Use the graph below as a visual to help.

A‘\‘
5. What would be the vertices of the image if the pre-image had
vertices A(2,-2),B(1,2),€(3,3),D(5,2) and theywere b
rotated 180° CW about the origin?
—
Cx, ‘33 - (= X,-‘j)
< r
Y
a. A'(2,-2),B'(-1,2),€'(=3,3),D'(-5,2) c. A'(-2,-2),B'(2,-1),C'(3,-3),D'(2,-5)

b. A'(-22),B'(-1,-2),C'(-3,-3),D'(-5,- 2 d.A'(2,-2),B'(2,1),€'(3,—-3),D'(2,5)

6. What would be the vertices of the image if the pre-image had vertices A(2, —2), B(1, 2), €(3,3), D(5, 2) and they were
reflected across the x-axis?  ( x . ‘;13 =y (X' - \/)

a. A'(2,-2),B'(-1,2),C'(-3,3),D'(-5,2) c. A'(-2,-2),B'(-1,-2),C'(-3,-3),D'(-5,2)

b. A'(-2,2),B'(-1,-2),C'(-3,-3),D'(=5,—-2 2) @). B'(1,—2),C'(3,-3),D'(5,-2

7. What would be the vertices of the image if the pre-image had vertices A(2,—2), B(1, 2), C(3,3), D(5, 2) and they were
tated 270° CCW igin? °
rotate CCW about the origin? g ’Cw CX, (j) sl (\J TKB

a. A'(2,-2),B'(-1,2),C'(-3,3),D'(=5,2) & AT-3, 2070, —1),63,— 85, D@, -5)

b. A'(-2.2),B'(-1,-2),C'(-3,-3),D'(-5,—-2) d.A'(2,-2),B'(2,1),€'(3,-3),D'(2,5)

8. On the graph to the right draw and label the triangle with vertices A(—4,5), B(—3,2), C(—1,4) after all of the
transformations listed below are done. DRAW all the images.

A C 4 &

i Translated 2 unit right and 2 units down
2, 6 (-10) < (1,2)
ii. Reflectacrossy = x ( Yex)
x(3.2) v (0,-1) c@) A
iii.  Rotate 90 degrees CCW about the origin (‘Y: x) P /%’(\\\ \ A 7

A

=Y
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9. Name the ordered pair rule that transforms each figure into its image.

Rule: (x,y) 2 - Rule: (x, y) =2 (‘)'(, g )
(D X' (2,5 S (3,-2) 13(-3,-2)

e el R e e e

Rule: (x, y) = ( X 4‘31 y“s-d

Y

10. Which sequence of transformations maps AABC to ARST?

A. Reflect AABC across the line x =-1. Then translate the
result 1 unit down.

B. Beflect AABC across the line x = -1. Then translate the
result 5 units down.

C. Translate AABC 6 units to the right. Then rotate the result
90° clockwise about the point (1,1).

D. Translate AABC 6 units to the right. Then rotate the result
90° counter-clockwise about the point (1,1).
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11. Describe the sequences required for the following transformation below:

y

DRI I

L A0 CCw (-g, )

2. Qo&\u/f‘ rrer X2
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12. Quadrilateral ABCD is rotated 90° counterclockwise (or 270 clockwise) about the origin. Name the new
coordinates. CY; ‘;D d (—-:j , X b

Original
E Al1,3) B(3,4) C(6,5)
Coordinates

New Coordinates | (4 ( (.—3’ D) R (- .3 37 Ot ['S', (.0) D '(' S, l\

D(1,5)

13. Aregular pentagon is centered about the origin and has a vertex at (0,4).

Which transformation maps the pentagon to itself? 20,0

5

. . -_— ‘:?Z. ’ 3

A. areflection across line m 5 .
= m

B. Areflection across the x-axis. -+ $ T
C. Aclockwise rotation of 100° about the origin ‘ AN

@ A clockwise rotation of 144° about the origin F2x2- 4y

14. Translate the triangle GHI with the vector <-6, 3>, then translate it with the vector <2, -8>.

L (x-6, (‘j+g)

2 Re2 L‘j—g)

Name the Vertices of the image: G”((0,1) H” (0 'H) I"QZ' "-f)

Name a single translation vector that could get from GHI to G”H"I” : [X - q . 5{_53

15. Point C is located at (3,2), after reflecting the point over the x-axis, which quadrant will the image of
e
- G
) 17 geadandt
el
16. Point F is located at (- 4, 2), after rotating 90° clockwise about the origin, which quadrant will the image

din? A3 (Y,-x)
of F be located in ¢ F Y,—x ‘34. Leond-
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Learning Target #2: Congruent Triangles & Proofs

Complete each congruence statement by naming the corresponding angle or side.

¢ .
17. ALK] = ALBC 18. AVWX = AVI) 19. AKLM = ALKC

ik = /CLB WX = _qIJ = _LC

22. A A

A A AA
s

Py 25. A
S € Ky
A -
A
SAS
o AAS

State what additional information is required in order to know that the triangles are congruent for the reason
given.

State if the two triangles are congruent. If they are, state how you know.

20.

SAS;t sS

23,

26. ASA 27. 5SS 28. HL
v 7 A
‘ b4
’ 3 : IcW o
§ h \ T
L M H J
X w ' 6 B
LLZ fw Ch S ER T ETS
Ch XThA KT = Tx
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Complete the proofs. 29. - 31.
Given: E’lﬁ’ RS=TV,RU=TU

Given: AB||DC, AB=DC

Prove: ARUS = ATUV Prove: AE=DE
R 8 D
Pt :
s i e
V A ¢
2
Statements Reasons Statements Reasons .
1. RTLSY, ST, T 5 Gurevo 1. AB|| CD 1 G urso
2 /1and Z2arerightangles. 2. Ded.of L lunis 2. LABE = 2DCE 2. QU Tk &5 Pshulade
8. Lh 2 22 3 el of Rialb S 3.45=DC _Queto

4. ARUS = ATUV 4. _HL

5.AAEB = ADEC

AS A

ﬁEEEE

3
4 /BAE= 2CDE 4 QA4 Tt A's Post.
5
6

CRTc

5. AWXZ = AYXZ

31. Given: ZWXZ and ZYXZ are right angles " (- '
Wz=v2 +
Prove: ZW=/Y
zZ
Statements Reasons
1. ZwWYX& and /YX2 are g+.A's |1 Given
_Z'_AM%_&- LYXE 2 'De@oﬁ e—.r:)M_-\— A's
3. ZE = Y2 3. G wven
.2 Xz = X2 4 Retlerive Pop
5.
6.

HL

6. LZW=/LY

Cpcrc

32. If AABC = ADEF by AAS, what additional piece of information needs to be marked?

B E

1

LC = _LF
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